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Note : First 15 minutes arc allotted for the candidates to read the question
paper. :

e : i) Wit v wFEe § s v S i o 3E g feu T €
ii) YOS Y9l H UET % HEE U e |
i) W b s I e
iv) SR HEEE g, TaEiE geieor S

Instruction :

iy  All questions are compulsory.-Marks allotted to each question are
given in the margir:> :

ii) In numerical quiestions, give all the steps of calculation.
iii} Give relevadbanswers to the questions.

iv) Give chemical equations, wherever necessary,

1. 3@ T ¥ v @ i ur Ree Ry ) o freer g9 3@ sl 3w
gferT 4 el -
%) Frefoled § & fres wE g9 498 9 8§ ?
e i)  URREW wNms foemm i) @@l faemem
iii) BAfirem whugs faema iv) oegrifem wieke faeem 1
@) foafafed 4 @ a9 oftes arcfla 2 2

e i) H,0 i) C¢H;OH
i) C,H,OH iv)] CH,OCH, 1
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. I} ¥ HCL+faedq znCl, i)  Pd + BaSO,
i) 9 HCl+ Beler zncl,  iv) T A FE T 1
8)  wHiefegess ot witth i fave & fau svge freds 2
i) feast sfeds i) Tk srfierdes
iti)  “gHE Hfredw iv) 390 @ #13 7E 1
8) AR P o e wil sl ol 30 2 0
i} . CH3NH, i)  CH,CH,NH,
iiiy  CH4NHCH, iv)  CgHgNH, 1
q9) fewefmadfisiaddh
i) 3Rl i) =
i) g€l iv) l?ﬁiﬂ 1
1, Four alternatives are given' in each part of this question. Se]ect the

correct alternative and write it in your answer-book :
a) Which of the following has lowest osmotlc pressure ?
i) Potassmrpi\@onde solution e

i) Gold selfition

.. Q%
iii) Ma@%smm chloride solution

iv) ﬁ&mimium phosphate solution - 1
b) Among the following, which is more acidic ?

i)  HsQ o - ii) CeH;OH

iii) CszC'H iv) CH,;0CH, 1
c) Lucas reagent is

1) conc. HCl + anhydrous ZnCl, ¢

ii) Pd + BaSO,
ii}  dil. HCIl + anhydrous ZnCl,
iv) none of these
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Appropriate reagent used to distinguish between acetaldehyde and

acetone is

d)

i) Hinsberg reagent ii) Schiff’s reagent »

iijj  Lucas reagent iv) none of these 1
Which of the following amines does not give carbylamine reaction ?

i)  CHZNH, i)  CH,CH,NH,
ili)  CH,NHCH, » i) CzHsNH,
f) Deficiency of Vitamin A causecs
i) anaemia iij  skin disease
ity  sterility iv) nightblindncss .
2. ®) 20°C W Rt verf % 45 am iy witer frerd S W@ @ 3-2 TPEESH
31 fer fRRiw % Wi & om £fvr) ved F1 TR SEHE 34281 2

' . -1
@) 298 KW 0-20 M KCI R 1 il 0:0248'S om ' 1 FHH HIH

1

HTerehal 3d rfsm) | | 2
1) sﬁaﬁ%ﬁm%maﬂwﬁwm%m'ml 1+1
u) Tafafee dfeel & o d o, aw ke 1+1

i)  CH,CH(CH,)CH,CH,CHO
ii)  CH,COCHJEOCH;

At 20°C the dsmotic pressure of 45 gm per litre solution of a

2 a}
substance is 3-2. atmosphere. Calculate the value of solution
constant. The molecular mass of the substance is 342. 2
b) At 298 'K ccnﬁuctivity of 0-20 M KCI solution is 0-0248 S cm .
Calculate its molar conductivity. 2
c) Write the units of velocity and velocity constant for zero order
reaction. 1+1
d) Write L.U.P.A.C. names of the following compounds : 1+1
i) CHSCH(CHS)CHQCHQCHO
ii) CH4COCH,COCH;,4
[ Turn over
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Pt srffrnait 4 (a9 (B) B &L - ak
CH3CONH,, P‘-fs .m.-%{l

IfFTH I R ? T @ WEAY HH fwy 2

The velocity of a gaseous reaction is halved, whereas the volume of
the pot is doubled. Calculate the order of reaction. 2

Write two characteristic properties of transition metals. 1+1
Identify (A} and (B) in the following reactions : 1+1
P
CH3CONH, 205 -+ (A) d1H (B)
A Sn/HCI
2

What is nucleic acid ? Write its two important functions.
foret wom wife Y wrfwfrn & forg farg e 76 374 arfrfeean i qof #¢
T oM qea IWh A - ARH H Q) R 2 3
e RS § ST JeTer 33 gy e AR % T B A 3

frafafiea @ 1-spRseges wega & &1 TERS gHie faRed
1+1+1

(i) 1-SIe, (ii) 1 -FARISLA, (iii) Sqe-1-871

@%W(A}Wm%mﬁmmﬁm(mmg
M Br, @41 KOH % 4T T ¥ W 3HF C H,N ren v (C) T
21 (), (B) @1 (C) Dl it T=T @ w7 W faflan * 3

For a first order reaction, prove that the time taken in completion
of 3/4 part of the reaction is two times that of its half-life period. 3

Explain the importance of complex compounds in qualitative

analysis with suitable example. 3
Writc the chemical equations for the preparation of 1-iodobutane
from the following : 1+1+1

(1) 1-butanol, (ii} 1-chlorobutane, (iii) But-1-ene.
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d) An aromalic compound (A) 0N treatment with aquecous ammonisy

and heating forms compouﬂd (B) which on hecating with Br, and

KOH forms a compound (C) of the molecular formula C,H-N. Write

the structures and names of the compounds (A), (B) and (C) 3

5. F) IFAFT KMno, feemm fFE TEW () BW AR H, () SO, A,
(1ii) STFRITH 317t @ e (iv) fsgm yrRETHe @ Ahiwa S 2 o

l+1+ 1+ 1

@) fafafgs % 1.u.pa.c. ™ fafw - L+ 1+ 1+1
) [Co(NH,)]Cl, i) [Ti(H,0))""
ifi)  K,[Ni(CN), | iv)  [Pt(NH,),Cl)]

) ﬁqﬂaﬁﬂiﬁﬁrqm_(aﬁawqﬁagmﬁa;{w%ﬁgq) 1+ 1+1+1
i) L-SHAINRA &) 2 F 9 § 2
i) 2-SHNT w1 -EmeT i o
i) FAEAT H gkl o 2
iv) FARE~T T B ° 2

9)  ThIE %l T SR gReE aul n-aed o feE e afafda Hifson o
shad Taie g forRen) 2+2

5. a) How does the ‘Q&diﬁed KMnO, solution react with (i) ferrous
sulphate, (ii) ,@2, (iii).oxalic acid and (iv) sodium thiosulphate ?

https:/iww boardonline.com 1+1+1+1
S
b) - Write I.@.P.A.C. names of the following : 1+1+1+1
—
i) [Co(NH, ) ICl, i) [Ti(H,0))*
i) K, [Ni(CN], | wv) | Pt(NH,),ClL,]
c) How will you convert — (write chemical equations only)
1+ 1+1+1
i) 1-bromopropane into 2-bromopropane ?
ii) 2-bromopropane into 1-bromopropane ?
i) Chlorobenzene into Diphenyl ?
1v) Chlorobenzene into Phenol ?
d) How will you convert glucosc if}tO glucose phenyl hydrazonc and
n-hcxane ? Write chemical equallons only, 2+ 2
1 2000/ 1225 | Turn over

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

347(GD} 6 ﬁgiﬂ'%,
; & i Jfem Feitage 1.0 fRIT €
o ;73.08321?{?;?;;13 —gl,zégqm;ﬁm%wmﬁmﬁm_m;
( K,= 0-52 kg mol! , Bacl, AR gegaE = 208-34)
3t -
NaCl 1 1-2% faeraq =g % 7-2% Taema & 2l NaClﬁm;
% AU BT Torieh Y oA il
@) Wﬂ%ﬂmﬁﬁmmﬁ%mqw:1+l+l+l+l
) HFTT W 2,4,6-ZTgsmbma B STHEA

i) 9T TehlEia A avies ape ® IREAH

i)  WI-2-37 H 9T § ek

iv)  SgeA-2-HF ¥ F-2-He | qRadd

v)  wrfies 3t w1 sieifeaiie aper @ ATedteor|

oG _
freffiaa o aitm feof Rifeg - 2} + 24
) Tsm-dme e
i) faferes dyeryon

6. a) An aqueous soluti@i}\ containing 12'48 gm of barium chloride in
1-0 kg of water, “boils &t 373:0832 K. Calculate the degree of

arium chloride. (K, = 0-52 kg mol~!, molar mass of

dissociation
N
BaCl, = %@4 ) 5
. OR - - |
1:2% NaCl solution is isotonic to 7'2% glucose solution. Calculate
the van't-Hoff factor for NaCl solution. | 5
b)  Name the reagents used in the following reactions : .

l+1+1+1+1
i) Bromination of phenol into 2, 4, 6-tribromophenol
ii) Conversion of benzyl alcohol into benzoic acid
iiij  Dehydration of propan-2-ol into propene
iv)]  Conversion of butan-2-one into butan-2-g]
V) Oxidation of primary alcohol into carboxylic acig.
OR

12000/1225

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

7
347(GD)

Write sh

Ori noteg on the following : 1
| - . 23 + 21
) Rmmer—Tlemann’s reaction |

i i11i
) Williamson’s synthesis-

%) @ﬁ%%@a@ﬁqﬁﬁ@aﬁa%%o qlo Fo Y MU Hifo

Cul Cu (1M) | Ag*(1m)| A

0
E cu?t/c, =10-34 diee, EUA5+ng =+0-80 dIe2
| e
stae 39 % o A s R 141 diee 81 Preforfaa sfrfs %
e o firew st 6 R Hifd >

Zn(s)+ Cu®*(aq) = Zn?*(aq)+ Cu(s)

@) 9 B 5o — (Sheaw qarie gHiww fofe) 1 +1+1+1+1
memwﬁz%ﬁwﬁwm%m
Eic i \@@ |
qmaqaﬁsﬁﬂgsq%mumﬁaﬁmm%?

mﬂ@m@ﬂﬁqaﬁmﬁw@ﬁﬁﬂﬂmmﬁﬁ

wIfifer arrer i Gefer e & iy w § 2 |
wrifesarse # NaOH % 41 faema & wrw mf fopan wman @ 2

v)
JHUdn
freferflaa &1 aassy 1 +2+2
i) =g g9
iy wfkm arfudsean
i) sera e AAfufE
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7. a) Calculate the e.m.[. of the following ccll writing the cell reaction :
S
a1 | Ag*0a)
EO i = o f 0 -= .
cu?tj, = ¥0-34 volt, E° . +p 80 volt.
OR
The standard electrode potential of Daniel cell is 1-1 volt. Calculate
the standard Gibbs energy for the following reaction : { 5

Zn(s)+ Cu**(aq) - Zn**(aq)+ Cu(s)
b) What happens when — (write chemical equations only)

1+1+1+1+1

i) Mixture of calcium acetate and calcium formate is dry
distilled ? |

i) Acctone is distilled with conc, H,SO, ?
iii)  Acetone is heated with chloreform in presence of alkali ?
v)  Formic acid istheated with Fehling’s solution ?
{gg'a g on :
v) Formald%@ﬁe 1s-heated with conc. NaOH solution ?

$Q\@* OR
Explain tie following : 1+2+2
i) Benzoin cendensation |

i) Perkin’s reaction

iii)  Cross Cannizzaro reaction.
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